MGA 4U0 Semester 2, 2004 - 2005

Grade 12 Geometry and Discrete Mathematics
Unit 3 Evaluation (Intersection of Lines and Planes)
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2.State whether each of the following is true or false. Provide a bnef explanatton for each answer. (10 TIPS, S COM)
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3. The Ime £1 is described by the vector equanon 7 =(1,-5,2)+t(1,1,-2). The line £; crosses the x-axis at 3 and the
z-axis at 5. Find the distance between £, and ¢,. (Hint: Do not waste time trying to determine whether the lines ﬂl
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4.From first principles (i.e. using the fact that the dot product of perpendicular vectors is zero), find a Cartesian (scalar)
equation of a_?lane perpendicular to the vector (2, 1, 4) and passing through the point P(2, -3, 6). (5 APP,3 COM)
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5.“Find the direction angles (e, fand ) of the line &: x=2 - 0.5, y =3 - ¢.”
To increase your “COM” score by two marks, write a very short paragraph describing the punishment Mr. Nolfi should
administer to Ali, Aaron and Ashraf for their constant talking during class discussions. To decrease your “COM” score
by two marks, answer the question above enclosed in quotation marks. (+2 COM)
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6.Find symmetric equations of a line through P(4,-1,3)and perpendicular to 7 = (1,-5,2) + s(1,1,-2) + #(2.1.1)..
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geometric interpretation of the solution to the system.
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